10

11

12

113& > R F
;%E *z2EX 2

Ak g B
CEA RS (0 e
26M:E £ 2 iz (Oif

E :' j__%
= 1\;/

H

DRCFE \“iw;&i;)

R pEH DR (B P FD O F o)
1Mz £: +#O% #OOZ
26MiE £ H OO

AT S ¢ (T A

10M:iE = : #Oic 203 +HO=
PR T REHFELR ¢

(B fcor ot T P FD 20 o3~ J{2 4

1ME<: 0% Oz % O
DMEL: 20O

freFE L O

PP HTREHFLR § (T

BrEs: 20%
T § LR € (e s
HrEL: JOis RO
2T §HFL R § (T
SME=: %l O

EEVMT EHFLR ¢ (Birray
frFEL: 04
BABMTREMTFLR § (Brr

XL

DERCF oo

A s

20k

BT S S PFP 2P RTI R ER

AP IMTREHFLR ¢)

FTHe -~ §5 0 Bk P de i)

DR 26 e

%“f-%ml 2] %iwii;)

T F D A F )

IME<: 2078 # O

BMES: 205 HO~ HFOE HH O

HreFEL: mOF #®O% #®OZ #O0Or %0z #0004
TR 6 F LR 6 (B rr i P ED S d ¥ ¥ e bhie )
gL O RO mO% #O0F HOw

40 L ESEEG (HAThs  AD 26 )

#rEL: 203

A SHFE R RAR 6 (BT A
e g £ ?JO/J

BB -0 i \“iw;ki%)

< % |4y

DL E R (PR AN P L ERAE)
10ME£: 20O

25MiE £ 0 RO

LS RLPE R R R AERL P )

1OM:E £ MmOz SO

RT3



10

11

12

13

-

%O

¥O=
O

MmO

A 2 A BT EE CRED ad g i 21 F)

1ME=: #HOR EFO% +O0O# +O0Or 0¥ mO# #HO#
O %0 208 FO%

25ME £ #HO#® 10& 210#%

50MiE=: ®O% ®Op H#HOZF

Bz @ de S F e L FD 20 ¥ i)

10ME £ : O

25M:E £ 0 O3

Rz d AL ST ar (34D 2 ke a0 &)

25M:iE £ HOR

PEEEFEEPFRE TS AT, 2 WA F)

10ME < : mO2

$l A F(rriy B )

20M:E £ 3O

R8T A FEoras (fHD 2ded Koy 5)

1M <£: #Og 0=+ wO2& HOB FOL AO3 F¥OF
mOf mOx #0% #0% & O rOr #0%
FOF #HO# mOx mO# 20#%

20ME £ EOD 3O

SME+: wO& AO3 ¥O¥ mOfp mOI FOF

PRABEBEATRR CRET a2 REFER &Y 2 ER)

oME<: #Oix O

50MiE £ # O

R o

(Bt D HFlS D d e W2 FEF 3703 2k 3 o? & AR 2P RANY F)

10ME<: mO4 %0On  #Op

250M:E £ 1 W Odr

Rt AW TEG - (Prrhy RPN TESRLE)

loME<: 20% 200%

P2 24 8 (4 st

IME=: £0O%
DRI G- 4G L g
I0M:E+: 20O

B¢ B
ERLRIES S R ¢
I0ME<: BO% HO®
9ME 5 O

st ez Egmd £(HHE
10ME = O

R §HFLR §)

TRz A FHENT R s )

Arfbe DA 2 LERY IR FFT AT E)
* Ot mO& mO»= #O=+ 20%
TR DRTAH kR F e F)



10

11

12

13

14

15

RrAd 2k R Y F(Eorid (3T 2

1M:E=: O3 O+ m O mO4 ®O0m #0i& +HOF ¥0O7
5O

B T B AT F(REATAN CRFD OGS T 2R B F)

IME=: pOr WO mOm *O%¥ 0O,

20ME £ O

HOMiE £: mO=

o
O
24

FFS 2 e M B s BT A CRFT 2 aitied g)

IM:E+: #O% 20r 20% FOM #HOzr 3104 mOx m O mO=
wO#F  #HwO% 2O

LEFRMBZAPFI R SR IF R 8? EFROE TS D HFS 26 LR F)

10M:z £ 2=O#%

PR P HFRIEFTERI R EHR

(Borteds D FD 2 dded PFD 2P PRrIFER 2P 25 R)

IME<L: g0 508 $07F mO® #®O0* #0% #O0% 3z0# 2 O
10

SOMEL: ¥OR 2O

FFD 2 THE 5 SER(PEHATEE CPF2APRAYE CPRFIPRERY RRAE)

1M £ #HOx BO¥ 208 H02  +HOB  EFORT

RTARIPL B e ? B (B AThy CATHRIPL R B §)

10M:E+: EOrP

0 2ATAER s BT A 40P 2 LRAY §)

ME+: Oz HO&s #HOE 40H

ZHEZ Le g BRI 2B Lageard §)

10M:E=+: %2O% 2T0O%

ZHEF E BB FOE KT AR D 2T §HFELRE)

1Mz +: OF

B 22 H B BB HATAE B 2 2B )
I0ME£: MmO #HO¥

BT D RRFLEPEREFTRERTEE P FEFZAFRAYE)

1M +: &O%
Bed A4 BT B ar SRR A8 M E A BT R §)
1ME+: £20%

UL
ABD 2P RS R hr P AR P RAEANY §)
Mg+ £0O%F mO& H#O%E

Frath 2 iRkr AP F (T D ATAY 2R AP F)
10M:E=: 3203

FeBT 2 e AEA Y BT R
Mg+ #O# mOz % O



10

11

PR 2 A HRA Y BT AR D RES 2 X fRAYF)
1ME=: Oy  %O#k  #O3

FEH 2 S LAY BT AR D RES 2 S LAY )

I0M:E = #HOB

IR B RN

(Eteores (3 FD 2/ BRI FER Y TEROPFD P JFY RRALF S F THEFREAN]F)
1M:E=£: #0%#¥ F$0& 0@ #O% +#HO#E xO#
PEED AT R F (T P ET 2 AT R A )
IME=: $0O0% 0% O mO& mO=

2P 2R By DY 2 feRAY §)
10M:E<£: ®OK

ZHEZ RPN ER? FE TR 2 HM A R F)

10M:E = HOF

B 2GRN (s R A FRAE)

10M:E = 80

BT ZHFRAY FOERTAS R A 2 RFRAY )

10M:E =2 % Ok

RRNCE
FEDPEEY R F (BT S S e
SOME < ;RO



